N &

20199 &= =0 &k e EXNEE N

M E
BB

Helr a28e EXNHEE =4

Ol &t

g Al

= _ — d =
SN P SA(EN) - MBAY - BES e HlDE2
EXNEEH ,0565,557 1,389,819 665,738
= 144,672
< 2,000
Al 1,908,885
OXg EXggs 1,639,617 666,339 973,278
= 144,672
< 2,000
Al 1,492,945
S8 EXH#HY F& 1,639,617 666,339 973,278
= 144,672
< 2,000
Al 1,492,945
A=A 2 17,650 32,730 A 15,080
201 et 15,450 15,530 A80
01 At 22/t 15,450 15,530 80
(w2 Bt~ Z H| 14,250
O=ZINEE S8 100, 000& = 100& 10,000
OxZgH EUH 200, 0003 x4Z *2H4 1,600
O=MEXN S 25,0003 *508f A 1,250
OXNB=&TH 225 & =2ldl
100,000 92 900
OMEEEHI 500,000& 500
m = &l 1,200
OXNB=&tdmBA & Ols X ZA
8,000& x5 x302! 1,200
202 oddl 1,200 1,200 0
01 = LH o4 1l 1,200 1,200 0
mAE=SHdUZA & SSIEFH I A
20,0003 x5H =122 1,200
203 YR =&t 1,000 1,000 0
03 A F=XH R =AY 1,000 1,000 0
mEXHEY FLFA 40,000 *59H x53] 1,000
HEHFUE Mo =8 127,320 27,320 100,000
201 et2 Y| 4,800 4,800 0
01 At 22l 4,800 4,800 0
w2 Bt~ Z H| 4,800
OXNHSEZNMZCIALH RXE>
400,000& 123 4,800
207 A RO 122,520 22,520 100,000
02 & AR I 122,520 22,520 100,000
W= T Mits = 22,520
(OE=3= &= 6,600& *2,2000H 14,520




2N
cUxg EXNEEY

el

X ZH
S =

EXNFEE Y

58X EN#Y XA

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
OBEHeZA 500& =16, 0000H 8,000
mMAM(AN)EH U2 HUIAY
100,000, 000& 100,000
COXE XN&E 2= 25,910 42,320 N 16,410
201 et A | 24,710 41,120 N 16,410
01 AFR2t2l bl 24,710 41,120 AN 16,410
m B2 H| 5,650
OZEEH EY 200,000& *4I x 15 800
O= AN X 25,0003 *308+ A 750
ORIAS Aotz QI 14,0003 *x20F 53] 1,400
o824 =2 50, 000& *20H *23] 2,000
OANEESS 700,000& 700
WAAHSXAH HEHESAIY 52,800& *300& 15,840
wmgsY 3,220
OXNZEHEZARE S 70,000& x5 x23] 700
OZHZHARAS 70,000& *10H 23] 1,400
OREXNEZERAZ 70,000& x8H x235] 1,120
202 04 bl 1,200 1,200 0
01 2LHHI 1,200 1,200 0
@=L 4 bl 1,200
OMAHASXH ZEBHEAY SEXIA L FH
&8 23 = 20,000& »2H x30 1,200
NETHEAAMY =& 1,074,140 164,886 909, 254
201 LEt2 Y| 22,040 1,600 20,440
01 AP 2t2l bl 22,040 1,600 20,440
m Bt~ 2H| 20,600
OXNETHEAMAMY 2EEHII5
50,0003 2062 X| *2JH J| 2 20,600
w2 & | 1,440
OXETHEZALAIE S & JRF=X ZAH|
8,000& »3H x60 1,440
202 04| 2,100 2,000 100
01 2LHOHI 2,100 2,000 100
@=L 4 bl 2,100
OXNETHEZAMAMSY EXNSHESIAL L HAHZA
A2 20,000 *3H 35 2,100
301 dBEtE A= 1,050,000 161,286 888,714
12 JIEtE & 2 1,050,000 161,286 888,714
mXIEMEAANYE ZEH2 1,050,000
OM&E X 680,000,000& 680,000
O M A& X+ 65,000,000& 65,000




2N
X ZH -
L= B

el

EXNFEE Y
OXg EXg2e
S8 EXNY =X

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OsAX T 305,000,000& 305,000
IHE Z2 A K ZAFAEA 136,650 146,650 A 10,000
=2 46,172
Al 90,478
201 et | 133, 150 143,150 A 10,000
=2 44,422
Al 88,728
01 AP 2t 2] d| 133, 150 143, 150 A 10,000
m] 2 B4~ ZH] 131,650
OIME ZAXIIE ZEAAFY =&
131,650,000 131,650
2 43,672
Al 87,978
CEET 1,500
ONEZAIXI &8 & 2Z 1,500,008 1,500
2 750
Al 750
202 044l 3,500 3,500 0
= 1,750
Al 1,750
01 2L I 3,500 3,500 0
mIHE Z2AI K EXNEHL T A 3,500,000& 3,500
=2 1,750
Al 1,750
HERE2 35,200 25,200 10,000
201 B9 30,000 20,000 10,000
01 AP 22| H| 30,000 20,000 10,000
moHEEEZ2 20 MY =42 30,000
oOZAIII 292 4,000,000& *53] 20,000
ONLELZS &0 MY 29
2,000,000& «53] 10,000
202 o4 | 1,200 1,200 0
01 2L I 1,200 1,200 0
m (4 Hl 1,200
ONLEEZ ENHLHR =&
20,000& 23 »30 1,200
802 Bt&t =2 | Ef 4,000 4,000 0
03 =2 4,000 4,000 0
mdI2 S 4,000
ONLEEZS &3z 4,000,000& 4,000
C2HEAAY 111,987 106,973 5,014
201 Yer2 | 17,670 17,670 0
01 AP 22| H| 17,670 17,670 0




A EXNEEDL

u: (XY EXNZSY

Sl 82X EXNYY £ CERED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
(w2 Bt~ Z 15,590
(COEPNE=IN 25,000& *30Ef A 750
OZHIERHEY 420,000& *5H4 2,100
OE2H ¥ Tl A2/ 1,000,000 1,000
ORIJ3 Motz 11,000& x20F *x23] 440
oty & s=+9 65,000& *200H 1,300
oY F=A EY EZ 2,000& *5,000H 10,000
w2 | 960
OERTEAL AP T A
8,000 »3H x40 960
w94 1,120
Oz FA2AS 70,000& *8H x23| 1,120
202 04| 1,000 1,000 0
01 2LHOHI 1,000 1,000 0
m O 4| 1,000
oOzgydxzA HREFA 20,000& x»2H x5 1,000
308 X SHAMSOIH 23,317 18,303 5,014
10 37 2SHUHSZEAHAE ALY 23,317 18,303 5,014
mI2INFAMEANAEY 2AXSH 15,740
OGISH A ATEJAHKFKXNES 2,400,000 2,400
ORINFAEEBANALE SIS 13,340,000 13,340
mMEZHFAIE2E RAELAE 7,577,000 7,577
401 Al HI YL 2 0HHI 70,000 70,000 0
01 A& HI 70,000 70,000 0
mMEZ2HEFA OHWAIE EX &£ R+ 70,000
o=z ¥ot 40,000,000& 40,000
(OFaf-—uk=2c; 6,000,000& 6,000
OJ|lxHs T 2,000,000 2,000
OKNESL: 84 22,000,000 22,000
S sitze| 10,260 10,260 0
201 et A | 9,060 9,060 0
01 AFR22t2l Yl 9,060 9,060 0
w2 Bt~ 2 | 8,100
oZHZeyd EY 700,000& *43| 2,800
O=2AEX 25,000& *80EF A 2,000
OHEXN L QsH 500,000& *x2E x13| 1,000
(@)=l 800,000 800
OgRE 223 1,500,000& 1,500
(w2 & | 960
OFSAMSHE AL NEEH
8,000& x2H x60 960




A EXNEEDL

u: (XY EXNZSY

Sl 82X EXNYY £ CERED
SA B ER(EN) - AR - BES of & o4 San HIDZ2

202 o4 4 1,200 1,200 0

01 SLHOYI 1,200 1,200 0
m0od I 1,200

SIS~ NS

20,0003 x2H +30 1,200

ANE2e(Bx) 4,000 4,000 0
= 4,000

101 @128l 4,000 4,000 0
= 4,000

04 DIt 22 XS+ 4,000 4,000 0
mIHSEHe 22X oAl 4,000,000& 4,000
= 4,000

NETHE=AH(EZE) 94,500 106,000 211,500
= 94,500

201 2Bt2 | 94,500 106,000 A 11,500
= 94,500

01 At2 22l b 94,500 106,000 211,500
CIPNESPESUN == Sty = 94,500,000& 94,500
= 94,500

=N EgHSE X2 M 2,000 0 2,000
< 2,000

401 AIEBIL 2 CHEI 2,000 0 2,000
[ 2,000

01 A€ dl 2,000 0 2,000
m N EHSE EX 2,000,000& 2,000
= 2,000

Aeld e 313,340 626,340 A313,000

Aelde g8 & 2= 313,340 626,340 A313,000

S22 XotAIE= ol 2el 313,340 626,340 A313,000

201 fEt2E | 92,340 130,340 A 38,000

01 At 22l bl 3,680 3,680 0
m et S| 2,700
OZzH X 17,5003 »20H 350
O==2H 23 45,000 304 1,350
oZgte &Y 250,000 *4 4 1,000
m=2g+g 980

OdRE3 ?A 22BN ¢

70,000 7 x23| 980

02 S2=24H| 88,660 126,660 38,000
mE=s2s 2 MA 660
OGPSEEEHl 0S84 2= 25,0008 128 300




A EXNEEDL

M XeldEe

Sl X2ZE 28 ¥ 25 CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 as= HlnE2
Ol & o
OADLEKAISEHZD| OlSS 22
30,000& 128 360
WAl & & Hl = X bl 88,000
OS=2EXNTEANLAY SXNE=
12,000, 000& 12,000
O=It3AEE SeHAH SN2+
18,000, 000& 18,000
OZ32UOIEHOIARKIE s S2t0B S/W 54
18,000, 000& 18,000
O32EFEAIAH X L HOoIH 2el
40,000,000& 40,000
202 odl 1,000 1,000 0
01 = LH o4 1l 1,000 1,000 0
(w] = L{ 4 HI 1,000
O32AEFE gd2Fd 20,0003 x2H 25 1,000
207 Ao H| 110,000 290,000 A 180,000
02 & &R I 110,000 290,000 A 180,000
WIAFSAAE B DESAYE =0 O
g Z2UEFE ALY =g 110,000,000 110,000
401 Al HI & 28I 30,000 65,000 A 35,000
01 A& HI 30,000 65,000 A 35,000
mE=Z 2 XotAIES (&= ,0t%) DB 25 30,000
OF=&Z ZAALY 30,000,000& 30,000
405 XHobF S HI 80,000 140,000 260,000
01 XL 2 Z FH S| 80,000 140,000 A 60,000
mOAHIAl &2 (400km) SHSEH FALG A
80,000,000& 80,000
HE2LAZH(EXNZEE D) 102,600 97,140 5,460
Jl=Zl 102,600 97,140 5,460
JlE2zl 102,600 97,140 5,460
201 et 37,200 35,340 1,860
01 At 22l 37,200 35,340 1,860
(w] & BF =~ S H| 18,000
Ol MREBELI 5,000& 208 x12& 1,200
OZN2E =&t 70,0003 x20H 123 16,800
m = &l 8,000 x20H x 10 x12& 19,200
202 oddl 60,000 57,000 3,000
01 = LH o4 1l 60,000 57,000 3,000
w2 E=Z 200,000& x20H »12& 48,000
w2 =E 50,0003 x20H «12& 12,000
203 R =&l 4,200 3,600 600




o o o
o
©
A0
Klo
El
E=]
o o o
o o o
(<o) [eV) [eV)
foe) — | —
LH 3r
uilEd
RS
o o o o o o
o o o o o o
N 8 ) Q|8
< < < — e —
aor
<
(=
o ]
[aV] N
o ¥
o 0
g g
o =
m S ®
[Ye] o
. o o
3 g
= =
I+
=z
m -
0
ol 70
= 5 |1
mf_ o |o-
w0 |31
- <+ | D
R’ o |&
RO R RT
. <t —
z & |°




